Parts Included:

1 - 8.00" Trigger Wheel

1 - Pickup Holder Assembly

1 - Hall Effect Pickup Assembly
(3/4" - 16 Thread Size)

1 - Pickup Base

2 - Bolts, 5/16" - 18 x 1 1/4"

2 - 5/16" Washers

3 - Bolts, 3/8"- 16 x 1 1/2"

3 - 3/8" Washers

1 - TDC Pointer Assembly
2 - Bolts, 5/16" - 18 x 7/8"
2 - Bolt, M8x1.25x130mm
2 - Spacers

2 - Rectangular Nuts

2 - Shims

1 - Connector Kit






